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Paper - IV : Advanced Cost and Management Accounting 

Time : 03 Hours                              Maximum Marks : 80 

                                                            SECTION-A                                                 (4 x 5 = 20) 

Answer Any Four of the following 

1) a) Nature of cost accounting. 

   Ð@þÅÄ¶ý$ AMú…sìý…VŠü çÜÓ¿ê-Ð@þ-Ð@þ¬. 

 b) Absorption costing. 

   ççÜ…Î¯@þ Ð@þÅÄ¶ý*…Mæü-Ð@þ¬. 

 c) By product. 

   Eç³ E™èþµ-†¢. 

 d) Materials cost variance. 

   ç³§éÆæÿ® Ð@þÅÄ¶ý$ Ñ^èþ-Ææÿ-×ý-Ð@þ¬. 

 e) Objects of LCA. 

   LCA  Ë„>- Å-Ë$. 

 f) Special report. 

   {ç³™óþÅMæü °Ðóþ-̈ -Mæü. 

 g) Job cost sheet. 

   ç³° Ð@þÅÄ¶ý$ °Ðóþ-̈ -Mæü. 

 h) Cost centre. 

   Ð@þÅÄ¶ý$-Móü…{§æþ-Ð@þ¬. 



 

                                                                SECTION-B                                            (2 x 10 = 20) 

Answer Any Two of the following 

2) State the role of cost accounting. 

 Ð@þÅÄ¶ý$ AMú…sìý…VŠü ´ë{™èþ¯@þ$ ™ðþË$-ç³#-Ð@þ¬. 

3) Explain the methods of cost allocation. 

 Ð@þÅÄ¶ý$ Móüsê-Æÿ¬…ç³# ç³§æþ®-™èþ$Ë$ ÑÐ@þ-Ç… è̂þ$-Ð@þ¬. 

4) The standard cost of a chemical mixture is as under: 

 40% of material A at Rs. 20 per kg. 

 60% of material B at Rs. 30 per kg 

 A standard loss of 10% of input is expected in production. 

 The cost records for a period showed the following usage: 

 90 kg of material A at a cost of Rs. 18 per kg 

 110 kg of material B at a cost of Rs. 34 per kg 

 The quantity produced was 182 kg of good product. Calculate material variances. 

 JMæü ÆæÿÝë-Ä¶ý$¯@þ Ñ$¶Ô¶ý-Ð@þ$-Ð@þ¬Mæü$ çÜ…º…«̈ …_¯@þ {´ëÐ@þ*-×ìýMæü Ð@þÅÄ¶ý$Ð@þ¬ D ¶Mìü…¨ Ñ«§æþ…V> E¯@þ²-̈ : 

 40% Ððþ$sîý-Ç-Ä¶ý$-ÌŒý A 1 MóüiMìü Ææÿ*. 20 ^öç³š-̄ @þ 

 60% Ððþ$sîý-Ç-Ä¶ý$-ÌŒý B 1 MóüiMìü Ææÿ*. 30 ^öç³š-̄ @þ 

 E™èþµ-†¢ÌZ {´ëÐ@þ*-×ìýMæü ¯@þçÙtÐ@þ¬ {ç³Ðóþ-Ô¶ý-ò³-sìýt̄ @þ Ä¶ýÊ°-rÏÌZ 10% V> A… è̂þ¯é ^óþÝëÆæÿ$. JMæü  M>Ìê-Ð@þ-«̈ ÌZ M>‹Üt ÇM>-Ææÿ$zË$ AçÜË$ 

Ñ°-Äñý*-VæüÐ@þ¬, E™èþµ-™èþ$¢-Ë¯@þ$ D Ñ«§æþ…V> ^èþ*ò³-sñýt-̄ @þ$. 

 Ððþ$sîý-Ç-Ä¶ý$-ÌŒý A 90 Móüh, 1MóüiMìü Ææÿ*. 18 ^öç³š-̄ @þ 

 Ððþ$sîý-Ç-Ä¶ý$-ÌŒý B 110 Móüi, 1 MóüiMìü Ææÿ*. 34 ^öç³š-̄ @þ 

 AçÜË$ E™èþµ†¢ (Ð@þ$…_) 182 MóüiË$, ÑÑ«§æþ Ððþ$sîý-Ç-Ä¶ý$ÌŒý Ñ^èþ-Ææÿ-×ý-Ë¯@þ$ ÌñýMìüP…^èþ…yìþ. 

5) Prepare a flexible budget for the products of 80% and 100% capacity on the basis of the 

following information: 

 Production at 50% capacity 5000 units 

 Raw material Rs. 80 per unit 

 Direct labour Rs. 50 per unit 



 

 Direct expenses Rs. 15 per unit 

 Factory expenses Rs. 50,000 (50%) (fixed) 

 Administration expenses Rs. 60,000 (variable) 

 80%  Ð@þ$ÇÄ¶ý¬ 100% {´÷yæþMæü$tË E™éµ-§æþMæü Ô¶ýMìü¢Mìü AíÜ¦Ææÿ ºyðþjsŒý ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý¬Ð@þ¬. D ¨Væü$Ð@þ C_a¯@þ ÑÐ@þ-Æ>Ë B«§é-

Ææÿ…V>: 

   50% E™éµ-§æþMæü Ô¶ýMìü¢Mìü E™èþµ†¢ 5000 Ä¶ýÊ°-r$Ï 

   Ð@þ¬yìþç³-§é-Æ>®Ë$ Ææÿ*. 80 JMæüP Ä¶ýÊ°-sŒý-Mìü 

   {ç³™èþÅ„æü ¶Ô¶ýÐ@þ$ Ææÿ*. 50 JMæüP Ä¶ýÊ°-sŒýMìü 

   {ç³™èþÅ„æü QÆæÿ$aË$ Ææÿ*. 15 JMæüP Ä¶ýÊ°-sŒýMìü 

   ¸ëÅMæütÈ QÆæÿ$aË$ Ææÿ*. 50,000 (50%) (íÜ¦-Ææÿ…) 

   ç³Ç-́ ë-Ë¯@þ QÆæÿ$aË$ Ææÿ*. 60,000(^èþ-Ææÿ-) 

                                                    

                                                      SECTION-C                               (2 x 20 = 40) 

   Answer Any Two of the following 

6) The Gokul Co. Ltd., accepted a work order to supply 100 units, which passes through from 

machines, before its completion. The cost details are as under. 

 Materials purchased Rs. 8,000; wages paid Rs. 500 

 The working hours of each machine is on follows. 

 Machine No. I 200 hours @ Rs. 1.25 per hour 

 Machine No. II 160 hours @ Rs. 2.50 per hour 

 Machine No. III 240 hours @ Rs. 3.00 per hour 

 Machine No. IV 132 hours @ Rs. 2.25 per hour 

 Materials costs Rs. 800 found surplus returned to stores after completion of the job. Office 

overhead 40 percent of works cost, but due to increase in cost of administration, it has 

been changed at 50% rise in the office expenses. 

 You are required to prepare job cost sheet and to determine the price of the job by 

changing 20 percent of the total cost as its profit. 

 VøMæü$ÌŒý Mæü…ò³± 100 Ä¶ýÊ°-rÏ̄ @þ$ çÜÆæÿ-çœÆ> ^óþÄ¶ý$-yé-°Mìü A…X-Mæü-Ç…_-̄ @þ¨. C¨ ¯éË$Væü$ Ä¶ý$…{™éË §éÓÆ> ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$-Ð@þ-

ËíÜ Ð@þ#¯@þ²¨. ©° E™èþµ†¢ Ð@þÅÄ¶ý$… ¶Mìü…¨ Ñ«§æþ-Ð@þ¬V> A…^èþ¯é ÐóþíÜ-̄ é-Ææÿ$. 

 Ððþ$sîý-Ç-Ä¶ý$ÌŒý Mö¯@þ$-VøË$ Ææÿ*. 8,000; Ðóþ™èþ-̄ éË$ ^ðþÍÏ…ç³# Ææÿ*. 500 



 

 Ä¶ý$…{™èþÐ@þ¬ ç³°-̂ óþ-íÜ¯@þ Væü…rË$ ¶Mìü…¨ Ñ«§æþ-Ð@þ¬V> Ð@þ#¯@þ²¨. 

 Ä¶ý$…{™èþ-Ð@þ¬ ¯ðþ…ºÆæÿ$ I  200 Væü…rË$ Ææÿ*. 1.25 ^öç³š-̄ @þ 

 Ä¶ý$…{™èþ-Ð@þ¬ ¯ðþ…ºÆæÿ$ II  160 Væü…rË$ Ææÿ*. 2.50 ^öç³š-̄ @þ 

 Ä¶ý$…{™èþ-Ð@þ¬ ¯ðþ…ºÆæÿ$ III  240 Væü…rË$ Ææÿ*. 3.00 ^öç³š-̄ @þ 

 Ä¶ý$…{™èþ-Ð@þ¬ ¯ðþ…ºÆæÿ$ IV  132 Væü…rË$ Ææÿ*. 2.25 ^öç³š-̄ @þ 

 Ððþ$sîý-Ç-Ä¶ý$ÌŒý Ææÿ*. 800 Ñ$Væü$-Ë$¯@þ$ gê»Œý ç³NÇ¢-M>-V>¯óþ ÝùtÆæÿ$ÞMæü$ Ðéç³çÜ$ ^óþÄ¶ý$-º-yìþ-̄ @þ¨. BïœçÜ$ QÆæÿ$aË$ ¸ëÅMæütÈ Ð@þÅÄ¶ý$-Ð@þ¬Oò³ 

40 Ô>™èþ-Ð@þ¬V> Ð@þ#¯@þ²¨. M>°, ç³Ç-́ ë-Ë¯@þ QÆæÿ$aË$ ò³Ææÿ-Væüyæþ… M>Ææÿ-×ýÐ@þ¬ ^óþ™èþ D Ððþ¬™é¢°² 50 Ô>™èþÐ@þ¬ Ð@þÆæÿMæü$ ò³…^èþ-Ð@þ-Ìñý-̄ @þ° 

°Ææÿ~-Æÿ¬…_-̄ éÆæÿ$. 

 Oò³ A…Ô>-Ë¯@þ$ B«§é-Ææÿ-Ð@þ¬V> ^óþçÜ$-Mö°, Ð@þÅÄ¶ý$ °Ðóþ-̈ -Mæü¯@þ$ ™èþÄ¶ý*Ææÿ$ ^óþíÜ, AÐ@þ$Ã-Mæüç³# «§æþÆæÿ¯@þ$ Ððþ¬™èþ¢Ð@þ¬ Ð@þÅÄ¶ý$Ð@þ¬Oò³ 20 Ô>™èþÐ@þ¬ 

A«̈ -Mæü-Ð@þ¬V> Ð@þ#…yæþ$-̄ @þr$Ï «§æþÆæÿ¯@þ$ °Ææÿ~-Æÿ¬…^èþ…yìþ. 

7) Three contracts beginning on 1
st
 February, 1

st
 June, 1

st
 September respectively were 

undertaken by A Ltd. In 2005. Their accounts on 31-12-2005 showed following position: 

      Contracts 

     1   2  3 

     (Rs.)   (Rs.)   (Rs.) 

 Contract price   3,20,000   2,16,000   2,40,000 

 Work certified   1,60,000   1,28,000   28,000 

 Cost of work uncertified  4,800   6,400   1,600 

 Materials   57,000   46,000   16,000 

 Wages    88,000   90,000   11,000 

 General expenses   3,200   2,200   800 

 Cash received in respect of work certified   1,20,000   96,000   21,000 

 Wages accrued   2,800   3,000   1,400 

  General expenses accrued   600   400   200 

 

 Plant installed   16,000   12,800   9,600 

 Materials in hand   3,200   3,200   1,600 

 On the respective dates of contracts, the plant was installed depreciation thereon being 

taken at 15% p.a. You are required to prepare contract a/c and balance sheet. 



 

 A  ÍÑ$-sñýyŠþ íœ{º-Ð@þÇ 1, l¯Œþ 1, òÜò³t…ºÆŠÿ 1, 2005 ™óþ©-ËÌZ Ð@þÊyæþ$ ÆæÿM>Ë M>…{sê-Mæü$t-Ë¯@þ$ ¡çÜ$-Mö…¨. §é° ÑÐ@þ-Æ>Ë$ 

31-12-2005¯@þ ¶Mìü…¨ Ñ«§æþ…V> E¯é²-Æÿ¬: 

      M>…{sêMæü$t 

     1   2   3 

     (Ææÿ*.)   (Ææÿ*.)   (Ææÿ*.) 

 M>…{sêMæü$t «§æþÆæÿ   3,20,000   2,16,000   2,40,000 

 «§æþ–Ò-Mæü-Ç…_¯@þ ç³° ÑË$-Ð@þ  1,60,000   1,28,000   28,000 

 «§æþ–Ò-Mæü-Ç…^èþ° ç³° ÑË$-Ð@þ  4,800   6,400   1,600 

 Ððþ$sîý-Ç-Ä¶ý$-ÌŒýÞ   57,000   46,000   16,000 

 Ðóþ™èþ-̄ é-Ë$    88,000   90,000   11,000 

 Ýë«§é-Ææÿ×ý QÆæÿ$a-Ë$   3,200   2,200   800 

 Ð@þçÜ*O-Ìñý¯@þ ¯@þVæü§æþ$ «§æþ–Ò-Mæü-Ç…_¯@þ ç³° ÑË$-Ð@þ-ÌZ   1,20,000   96,000   21,000 

 ^ðþÍÏ…^èþ-Ð@þ-Ë-íÜ¯@þ Ðóþ™èþ-̄ é-Ë$   2,800   3,000   1,400 

 ^ðþÍÏ…^èþ-Ð@þ-Ë-íÜ¯@þ Ýë«§é-Ææÿ×ý QÆæÿ$a-Ë$   600   400   200 

 ´ëÏ…r$   16,000   12,800   9,600 

 Ððþ$sîý-Ç-Ä¶ý$ÌŒýÞ °ËÓ   3,200   3,200   1,600   

   çÜ…Ð@þ-™èþÞ-Æ>-°Mìü ´ëÏ…r$Oò³ ™èþÆæÿ$-Væü$-§æþË 15% M>…{sêMæü$t Rê™éË @̄þ$ Ð@þ$ÇÄ¶ý¬ çÜ…Ð@þ-™èþÞ-Æ>…™é-°Mìü BíÜ¢ Aç³šË ç³sîýt° ™èþÄ¶ý*Ææÿ$ 

^óþÄ¶ý$…yìþ. 

8) Analyse different kinds of cost reports. 

 ÑÑ«§æþ ÆæÿM>Ë Ð@þÅÄ¶ý$ °Ðóþ-̈ -Mæü-Ë¯@þ$ ÑÔóýÏ- íÙ…^èþ$-Ð@þ¬. 

9) Classify budgets with examples. 

 ºyðþj-sŒý-Ë¯@þ$ E§é-çßý-Ææÿ-×ý-Ë™ø Ð@þÈY-Mæü-Ç…^èþ$-Ð@þ¬. 

 


